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oagR 432,000 * 4Y 1,728
OMNE 3 432,000 * 49 1,728
Osg3 432,000 = 5Y 2,160
OFF 432,000 » 5Y 2,160
OFIXNHZRIA 2F= 3,420
Oo=22= 90,000& = 18Y 1,620
Oogst= 100,000& * 18Y 1,800




SN AEDERS DEFYY
HH: HH2IAH(ALZNS=2R WSEI D)
el lE2HH (RSAIY SE3H) (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
=24l 1,860 1,860 0
204 Al 1,860 1,860 0
02 Mg2xl 1,860 1,860 0
OusSdE=2AH %A 155,000 + 12E 1,860
Jl2dd(LEAg SE3H) 77,756 77,996 A 240
Jl=23dHl 77,756 77,996 A 240
201 fEt2E | 37,776 38,276 A 500
01 At 2t 2l bl 30,180 30,680 A 500
QJll=g=dAl 7,500
o=3 500,000& = 15 7,500
oz2gHI(II1=3Hl) 22,680
o=23% 7,0008 = 158 = 6& « 123 7,560
odg=d 7,0008 * 8H » 6 » 128 4,032
ON3AFH 7,0008 ~ 78 » 62 » 122 3,528
O&ge2&d 7,0008 * 8% x 62 » 123 4,032
OFEE 7,0008 ~ 78 » 62 » 122 3,528
02 3324 7,596 7,596 0
OHF AR EH KAt 4,200
O3 &l 275,000& * 12& 3,300
(OFSPAL=YA D] 5,000,000 = 3CH * 6% 900
oRER= 3,396
Osl 1,930& » 100& = 123 2,316
Ooggt 300& * 3008 » 128 1,080
202 o4 Hl 28,080 31,320 A 3,240
01 S LHO I 28,080 31,320 A3,240
OJ1EZHl 28,080
o= 20,000& = 159 * 4.5 » 12& 16,200
odd+d 20,0008 = 3F » 4.5& ~ 123 3,240
OKN&EFE 20,0008 * 3F » 4.5& ~ 128 3,240
OSY & 20,0008 » 28 » 4,52 « 123 2,160
OFAFE 20,0008 = 3F » 4.5¢ ~ 123 3,240
203 2P EF Ul 3,000 4,200 ~1,200
04 FANE2EERFAH| 3,000 4,200 21,200
OJIEH(HA 152015+ & - )
250,000& = 128 3,000
405 At&tH = HI 8,900 4,200 4,700
01 &L =ESFHSH 8,900 4,200 4,700
OusdEXy HIAPC £+ 1,400,000&  6CH 8,400
ousdEx M=Jl 7 500,000 * 1CH 500
NS (AEDESY DEFU]Y) 2,346,366 2,256,136 90,230




- _ _ RE]
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
WHWEHAHXES(REAMNY EY5AH) 2,346,366 2,256,136 90,230
s 24 2,346,366 2,256,136 90,230
dE2 2,260,629 2,073,386 187,243
01 SAH- B2HINEEZ 2,260,629 2,073,386 187,243
OANEZEZ2C =AY 2HHIEX
2,260,629,000& 2,260,629
404 ZAM2HE2NME2 85,737 182,750 A97,013
2A -2 E2 85,737 182,750 N97,013
OANAEZEZ2C =AY IF=2HHEX
85,737,000& 85,737




FN: dENSER HsnsH
MM o=(EWE
Eel: Hsnsads & MdlA Hd(LsSAME SE3AH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HENEER Hsush 2,262,109 2,509,968 A 247,859
CEUHSLS 2,155,579 2,426,501 A 270,922
HEansads 2 MUlA JHd(RSAE SE3IH) 2,155,579 2,426,501 A 270,922
hsns ol2g4dst =48 194,044 397,994 A 203,950
201 L2l 39,844 39,744 100
01 At 22l 39,844 39,744 100
oznsEl=E 22 39,844
OAMUHA = 2 AIZEECHY B8 MZ
7,000& = 2,000& = 23] 28,000
Ol=suws0l8s6t)l 228 M=
500& = 8,000& 4,000
Olzus IEBMHA RSNU EEH MH
132,000& = 1H » 12& 1,584
Ounssddn M ME 83 * 20,000 1,760
Ollsusegds 82 =% MH
50,000& = 30& 1,500
OEANe=zs 28 222 MH
50,000& » 60& 3,000
203 R =&l 2,000 2,000 0
03 A Z=XH S =AY 2,000 2,000 0
olsns g 2,000,000& 2,000
301 e A= 21,400 13,640 7,760
09 &AL HIB &S 19,400 11,640 7,760
OUzEweE & 2LHRA &=l 18,000
Ogg #sl 20,000& = 50 = 12& 12,000
Cunssite s& X
10,000& * 509 = 128 6,000
ollsuns & 2UH 23l
7,000& * 50 = 43| 1,400
11IIEIEA S 2,000 2,000 0
OSHYEAl &1 Zaz 2,000,000& 2,000
307 gl2tol & 130,800 0 130,800
09 2HAHEXS 130,800 0 130,800
OAUH A LEDE M X HZE SXl2e
25,0003 43604 » 123 130,800
=z=ns HoAAMNE &= 1,752,958 1,741,877 11,081
201 Let24d] 15,712 14,586 1,126
02 2324gHl 15,712 14,586 1,126
oag+3 2,980
OSHSE(ZZSHAEE)IH LR
6,000 * 4050H A& 2,430




EA: AdNES=2R Hsush
M. oc5UHEWLS
Sl HEDNSEHS L NHIA KA (RSAY SHEH) CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O&HEMEZ Y R
550,000& = 14 550
OM3TE 2,368
OBHSE(IXZSHAEE)3HIER
6,000 * 3037H & 1,818
OEAEMIZ=ZH SRANES
550,000& = 14 550
os49 -3 6,130
OBHSE(IXSHAEH)3bILER
6,000 * 4300 & 2,580
OHASZE 2A0/II0 AIBEER
25,0003 * 10014 * 123 3,000
OHEMZZ Y RANEH
550,000& = 14 550
OFATE 4,234
OSHSE(ZZSUAEE)IH LR
6,000 * 36404 A& 2,184
OHASZHE 2A01TI0I AIEEESR
25,0003 * 5IH A + 12& 1,500
OEAEMIZ=ZY SRANES
550,000& = 14 550
401 Al Bl 28I 1,737,246 1,727,291 9,955
01 A& HI 1,724,826 1,714,942 9,884
oag+H 389,682
OHANSZE 24 2 Y|
1,000,000 * 2JH 2 2,000
ONMUHA s2E 24+ 2 FHl 93,160
-—FHs2E 250,000& * 405002 = 80% 81,000
-RHs2E 100,000& = 152JH A& * 80% 12,160
OAMUHA S2E Ea 124,222
-S2E 2FA(AMU)
21,6003 » 150004 = 23| 6,480
-S2E 2FA(Y)
32,4003 » 255014 * 23| 16,524
-S2E LUt A (AILY)
4,320 * 150002  443] 28,512
~SYH LBHA(H)
6,480 * 25500 & * 443 72,706
OMUHA SHsZ2E &X & wXH
12,000,000 * 1004 & 120,000
OMUHA s2E BB EES &1 &
w A 1,600,000 * 200K £ 32,000
OAMUHA S2H22/0l L SALEI 44X
L B 15,800
A= 580,000& * 1070 & 5,800
-2 100,000& * 1007H 2 10,000




FN: dENSER HsnsH
M os5UHELS
el Hsnsgds ¢ MblA e (LWEAY SEIAH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OANUHASZE ZBDERHYUIAE &XI(
S 4= Al 2H) 500,000& * 50 4 2,500
OM3TE 430,919
OANsZE 2+ £ &
1,000,000 * 1JH A 1,000
OANUHA sZ2& 2=+ E FHl 67,720
-—FHsZE 250,000 * 303002 = 80% 60,600
fHsZE 100,000& * 89JH A = 80% 7,120
OMUHA S2E Ea 84,099
-5 2EA(AU)
21,6003 » 1884 = 23| 8,122
-5 2FA(H)
32,4003 * 115004 = 23| 7,452
-S2E LUt A (AILY)
4,320 * 1884 * 443 35,736
-S2E dutEA(H)
6,480 * 115004 = 443 32,789
OAMUHA RIHsZ2d £X & WX
12,000,000& = 150H & 180,000
OANUHASZE EBH2E OFAHxdES £X &
A 1,600,000 * 25JH £ 40,000
OAMUHA S2H2/0l & SALEI 44X
L B 21,600
AR 580,000 * 2004 & 11,600
-8B 100,000& * 1007H & 10,000
OANUHASZE ZBDERHYUIAE &EXI(
S+ AH) 500,000& * 50 A& 2,500
OAMUHHASZE HMH QL H X2 (LED) M
1,800,000& * 100H 2 18,000
OANUHASZE OtSRH EX(SAH)
400,000& = 4004 2 16,000
o089 +3# 448,408
OANsZE 2+ 2 EH
1,000,000 * 6JH 2 6,000
OANUHA sZ2& 2= E FHl 101,600
-—FHsZE 250,000 * 430002 = 80% 86,000
-RHsZFE 100,000& » 19500 A& = 80% 15,600
OAMUHA S2E Ea 122,708
-S2E 2FA(AMU)
21,6003 » 2384 * 23| 10,282
-SYE 2EA(SY)
32,4003 » 192014 = 23| 12,442
-S2E LUt A(AILY)
4,320 * 2380 * 443 45,240
-S2E LU A(SYH)
6,480 * 192014 * 443 54,744




FN: dENSER HsnsH
M os5UHELS
Eel: Hsnsads & MdlA Hd(LsSAME SE3AH)
SA - ZE-B(EA) - NRAY - B S il &t o il
ONUH~ RHS28 &7 2 A
12,000,000& * 1204 2 144,000
OANUHA s2E BHEZorAxES £X 2
WA 1,600,000 * 200H 2 32,000
OAMUHA s22de/0l & SALESI &X
L B 21,600
AR 580,000& * 200K 2 11,600
-2 100,000& * 1000H & 10,000
OMUHAS S Hol of Ly H X B (LED) &
1,800,000 * 100H 2 18,000
OANUHASZE FNESEHYIAE HI(
SESED 500,0008 * 54 2 2,500
CEEEE: 455,817
OHANSLH 24 o |
1,000,000 * 1004 1,000
OAUHA 52 2=+ & FHI 81,040
-FHsZE 250,000 = 364002 = 80% 72,800
-Flis2dd 100,000& = 103702 = 80% 8,240
OMUHA S2E Ea 112,677
-S2% 2FA(AMU)
21,6003 » 126014 = 23| 5,444
52T BHA(SY)
32,4003 » 2384 * 23| 15,423
SSUT LBHL (ML)
4,320 * 12600 = 443] 23,951
~SYT YUHA(SH)
6,480& * 2384 * 443 67,859
OAUHA SHsSZE X & WA
12,000,000& * 1504 £ 180,000
OANUHA s2E HHeZorAxdsS £X 2
WA 1,600,000 * 200H 2 32,000
OAMUHA S22/0l & SALEI 4X
B 16,600
AR 580,000& * 200K & 11,600
-2 100,000& * 507H A& 5,000
OAMUHHASZE X QL H X2 (LED) M A
1,800,000& * 100H 2 18,000
OANUHHASZE Z2NSREHYIAE EI(
SSAH) 500,000& * 50 A& 2,500
OANUHASZE SEAHAE X (S=AH) 12,000
-LictAtE XY S8 230 E2HAE &
Xl 750,000& * 8K A 6,000
~MOIA= EFAZFU I HAE &X
750,000& * 8JH A 6,000
03 A& =2 I 12,420 12,349
odg+3 2,806




EA: AdNES=2R Hsush
MM o=(EWE
o2l HEWUsSEHs & MElA e (RDSAME SE3H) (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OsZE AMEMNEAMT ALY
389,682,000& * 0.72% 2,806
OM3TE 3,103
OB2I ALNEAY AL
430,919,000& = 0.72% 3,103
os49 -3 3,229
OsZE AMEMEAMT ALY
448,408,000& = 0.72% 3,229
OFATE 3,282
OsZE MEHEME AIE2UHI
455,817,000& = 0.72% 3,282
AMUHA SEX 2el 81,000 91,182 A 10,182
307 gl & 81,000 0 81,000
09 2HAHAEXS 81,000 0 81,000
OAUHA SEX AMEE L A2 81,000
Ol ANEES 7,000,000& * 3004 21,000
OsX&2 7,500,000& * 8K A 60,000
ME==gel ¥} 76,545 150,552 AT4,007
201 L2l 5,105 6,557 A 1,452
01 At 22l 5,105 6,557 A 1,452
ONelolnsS M WIE 2,701
OROIAHAIAE SIEg
140,000& » 12& 1,680
OA=E HFANE=HI 2,998& = 173.55m 521
Odshtsxt =EX 50,000& = 104 500
OO =85 N 2,404
Ox 30,000 = 69 180
OtE XAl S 20,000& * 694 120
OMuw &= 4,000 * 694 24
oz +¢ 5,000& = 64 30
Oos&es sy 300& * 5,000 1,500
OLENE D] L 2% 20
55,000& = 1094 550
301 L2 A F 1,440 1,440 0
09 HALAHIEA S 1,440 1,440 0
OEd#XZ0l #=sH X 1,440
OEg&stl 10,000& = 6F * 23] » 128 1,440
307 glz2+ol & 65,000 65,000 0
05 RIZHRIEt 3 65,000 65,000 0
OLSoHE WIAY 65,000,000& 65,000
401 A& BIZ 201 8I 5,000 21,000 A 16,000
01 A& HI 5,000 21,000 216,000




EXN: dEnseE: snsil
M OSHELS
G HZEWsESHEs L AHAHA HE(LSAIYE EE3H) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
ONEHEHE LAY 5,000
OZegldetu (O 2 X AL
125,000 * 4000 & 5,000
WEEAN &Y ZoAUE AKX 28,000 28,000 0
307 giztol A 28,000 28,000 0]
04 CIZ2tSHALALS B = 28,000 28,000 0
o= 22,000
ODSEAN =8 ZH L DEAH Zoly
3 22,000
—JH QI EH A 13,000,000& * 120 X 13,000
—EH Ol EH A 9,000,000 = 104 EHA 9,000
O&EY 1A 3,000
OUWEAMND E0|1J ¥ WEEAN SHEES X
2 3,000,000& * 100 ©AH 3,000
OFHATH 3,000
OUWEAMD 2017 €& WEEANA &2EES X
2 3,000,000 = 104 EHA 3,000
WEYARE NS S 23,032 16,896 6,136
201 et Y| 22,532 16,896 5,636
01 AP 22| d| 10,944 9,544 1,400
OY AL s 10,944
O RFQEH(EM=X})Ets S0 T &=
70,000& = 80JH 5,600
OHAIABH (Al HA)EHS S 20 JHIE
70,000& = 404 2,800
O IR EH(EM=X}p)EtS AEIH FIE
508 * 24,000& 1,200
O AR OF2F X &S S S|
7,000& * 44 * 43| x 128 1,344
02 =224 H| 11,588 7,352 4,236
O PR SH(2222 2 MAl) 7,838
OUNSYHARABIAIAE DIJAXH 2SS 20 At
22 15,0008 * 128 180
O AR & SRS
40,000 = 104 = 128 480
OHRARABINEIE S MY XN ESHgs S|
= 600
-AEEE 3,000& = 10024 300
-HMSS 3,000 = 10024 300
OHRARBINEZE 2 JIIMHX AIZRES
80& = 704 * 128 68
O RRALIUEIE DM & S QER=2 6,510
-S| 1,930 = 250 * 12&€ 5,790
-2l gt 3008 * 200 ~ 12& 720




FN: dENSER HsnsH
M os5UHELS
o2l HEWUsSEHs & MElA e (RDSAME SE3H) )
SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
Ol ECCTVIMCH M EHE )R X E
=t 37,500,000& * 10% 3,750
405 XHoHF S HI 500 0 500
01 AL ESFH S 500 0 500
O"grele &8 HHl 2¢ 500
OO X Ethet 500,000& =« 1CH 500
BH2SYAY (AL DERY HELSD) 106,530 83,467 23,063
CleARAH(NEAY SE3IA) 106,530 75,547 30,983
flHxZ2 B+ 106,530 75,547 30,983
101 @14l 106,530 75,547 30,983
03 RIAHAAZZRHE > 106,530 75,547 30,983
OYM=X NS 2Y 96,248
OPR=== 46,511
-164 Xt 2,304,350 = 1H » 123 27,653
SN 1,571,450& » 1H » 128 18,858
OF=1 49,737
-ESE 1,440
i < Xt 40,000& » 2% * 12& 960
=Hl5 20,0002 = 2% » 1238 480
=R 14,405
164 Xt
18,1603 = 40AI2t » 1H * 123 8,717
23 Xt
11,8503 = 40AI2t » 18 « 123 5,688
255 115,2108 » 1H » 123 1,383
-H3ZE Sl 5,039
164 Xt 1,497,8208 » 1H * 23] 2,996
29 Xt 1,021,440 * 18 * 23| 2,043
- &l 150,000& 2 = 12& 3,600
-w SHl 150,000& = 2 » 12& 3,600
-JHAIXI & Bl 175,000& = 1H » 12& 2,100
-Zesg 50,0002 = 2% » 12& 1,200
-“HUANS 600,000& = 2% » 12& 14,400
—HOtE A S 2,570
164 Xt 96,880 » 1% = 20¢ 1,938
29 Xt 63,2008 = 1H » 10 632
C4UEd AXNSHHEE B 10,282
O=ggd= 96,248,000& * 4.50% 4,332
OCneE:sd 96,248,000& = 1.50% 1,444
O30UHLEE 96,248,000& * 3.06% 2,946
OFIIRAEH 2,946,000& * 6.55% 193
OMTHE 96,248,000& * 1.42% 1,367




N ANESEAL L
B DMZY HYSSANLL 29
cel: AsHssE2el(nsSmd SE3H) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
NHEEAMS L 737,072 729,847 7,225
DAHSH NESEAGL 29 669,608 658,215 11,393
NSHESE2 (REAY SESIH) 669,608 658,215 11,393
NSHsELR g28 2 633,308 630,735 2,573
101 @14 dl 211,200 226,375 AN 15,175
YBIEEEP TP 211,200 226,375 A 15,175
ORN+Y L HEY 22X
51,800& = 1H = 258 * 123 15,540
oPIEEH MY U (HEET
1,800& = 2H = 258 * 123 31,080
OXE0ld e
51,800& = 2 = 258 * 123 31,080
ONEHE=RW & HMEUHE d+=EX
51,800& = 398 » 252 » 12& 46,620
OFSHIAXNAN E=52X
51,800& = 1H = 258 * 123 15,540
O=8YXsA XN & HIIBA QUHEX
51,800& = 1H = 258 « 123 15,540
OHEIIAH & MNELA HdMUAHAE X
1,800& = 1H = 258 « 123 15,540
OLoHHH & &Y PIEAIA MAUYHAE X
51,800& = 1H = 258 * 123 15,540
OJIZtH 22X HE S|
200,000& * 1298 « 23] 4,800
OJIZtHMZ2 X 4HEE D22 = 19,920
OFaR= k= 1= 186,480,000& * 3.06% 5,707
OFINRAYEEE 5,707,000& = 6.55% 374
O30z 186,480,000& * 4.5% 8,392
ons=sd 186,480,000& * 1.5% 2,798
OMTHEH 186,480,000& * 1.42% 2,649
201 Yet2 | 356,887 338,069 18.818
01 At 22l 109,544 107,090 2,454
OXNYSE HF2I3H| 107,528
OHdLEH A28 2¢ 29,144
-dolMEZEH EU
220,000& = 3004 = 32l 19,800
-DANMEY ZEH EYH
500,000& = 1CH = 33 1,500
“HMAEY 70,000& = 504 = 33l 1,050
-SAJ EH 260,000& * 300 = 43l 3,120
-oIBI HE 528,000& * 3&f Xt 1,584
“MESSAI ZEX 10,0008 * 10& 4t 1,100
-ENEHEE d3I1E4  33,000& * 3004 990
OgeUd =2 5,910




SN HPSBAYL
E: DMEY FFSEALL 2Y
Sl NSHSS2A(DSAMY SBH) CERED
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
Holx B4 400,008 * 18] 400
SAYOIH 8442 220,008 * 128 2,640
~EIlgrE e HEasE
110,000 * 123l 1,320
SEAUS AL 222
1,300,0008 * 13| 1,300
“HA AS 242 50,0009 * 53| 250
ORNSXHAYANHSE HMH 7,008 * 400X 2,800
ORNSXHAANHSE HIl 60,0008 » 122 720
ONSHRMH L o oy &40
70,0008 * 402 * 43| 1,120
OALIHESA 255 8,002 * 50004 4,000
ORSHBRIY MUY 80,0008 * 5 400
ONSHSSY Mal o4 40,790
SAR L HE O HSEUEN 95
350090 * 50& * 95 * 23| 3,150
“HEY 22 NN 23
3,50080 * 50 * 25 * 23l 700
“HY. LA, HEIN 0BRSS 175
35002 * 10 * 175 * 23] 1,190
SREXBA O L DEHE FBUDXAM 5
== 80,0008 * 2& Xt * 55 * 23| 1,600
—oRBE ol U DEHE SRDAAN 55
80,0008 * 24Xt * 55 * 23| 1,600
“REXNYTESM 358 + 20,00004 * 23] 1,400
-HENS=E 7090 * 50,0004 * 23] 7,000
-NEXNSEEE 408 + 20,00004 * 33 2,400
~PREHSHXY AAMHRABI AU
250,008 * 24Xt * 23] 1,000
SEENY HEsR oS
250,0008 * 34X * 13| 750
“HSHADERE DA
80,0008 * 1504 Xt 2,000
-~ A2 DA 80,0002 * 504 Xt 4,000
~S=DTA 80,0008 * 504 Xt 4,000
OUALBHIEUE HLN RSUHLRSE S
| 442 3,600
-ggss 448 3,000 * 6002 1,800
~ARHH 44E 3,0002 * 60021 1,800
OZIIFHI o Y4l Y2
48,7002 504 * 12 2,922
OFXSE =AY 778 + 15,5002 * 123 14,322
O=IHH AP
15,0008 * 10 @ » 128 1,800
OJAMIEN XML % DS S|
7,008 * 128 * 23] * 1% 2,016




AHESSAHE A
DHM=H ANHSEMNEL 29
NENS=2A(DEANY SLH3IH) SREED
SH-HH . B(SH) - HBAMY - B2 O 4t 0t il 2
02 3524l 247,343 230,979 16,364
o332= % HA 231,364
ORER= 206,796
-SJI 1,930& * 6,000 *» 128 138,960
-l gt 300& = 15,0008 * 12& 54,000
-sJlets s 1,630& * 600 *» 128 11,736
-tHeEY 3,500& * 508 + 12& 2,100
O3 1,200,000& = 12& 14,400
Odze2 50,000& * 504 ~ 12& 3,000
OIS 3 30,000& = 12& 360
OQIHYIIH 3= 35,000& * 12& 420
O&dl+==22 185,000& * 12& 2,220
OZINEES 70,0008 * 23| 140
OLNERLELE= 200,000& = 13| 200
OASotME 3| b 48,0008 * 13| 48
OSHZAHZR2E MEESEE I |
100,000& * 3Y¥ 300
O&E2BXeE HA=u3 600
-EgtEE (s8) 450,000 = 1CH 450
-XtS XAl 150,000& * 13| 150
OXNSX22 g, &g Aetlteis Y2 Jra
HE AMES 80& * 3,000 » 12& 2,880
O A& &Hl S XYl 13,279
OB &H 1,400,000& = 53CH * 6% 4,452
OxzZg2lgH 600,000& = 39CH * 6% 1,404
O&E K= AL 3,700,000& * 3CH * 6% 666
OelED] 1,265,000& x 6CH * 6% 456
OR2 AN S| 600,000 * 5CH * 6% 180
OS2 MM &I 1,000,000& = 2CH * 6% 120
ONXNAMN &8 Zeif
8,000,000& * 1CH *» 6% 480
OSAME A 6,600,000& * 1CH * 6% 396
OHHSEAEAD 2,200,000& = 1CH * 6% 132
osE=Z S8l 5,850,000& * 1CH * 6% 351
O due| 3,700,000& = 9CH = 6% 1,998
OREE NS AIANAE RANE =+
102,000& * 12& 1,224
OXoXNzelZz ) SANES
23,660,000 * 6% 1,420
oAESXH(ZX) KX b 2,700,000& * 104 2,700
202 (4] 14,280 12,240 2,040
02 EHNYI 14,280 12,240 2,040




SN XS
Za: DAS

el X 3120 CERED
= _ = d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAEIA =0 A9t o= FHOIO|
170,000& =+ 29 = 128 4,080
OSHAHAZT ATHSA 20
170,000 * 5% = 128 10,200
301 et 4= 15,051 15,051 0
0B MEERRIZH= 15,051 15,051 0
OXNsXHES TR EX 15,051
Ozdzeed 243 14,811
-l 24 dl 171,400 + 398 128 6,171
-S4l 7,000 * 3" * 25¢ x 12 6,300
-w SHl 2,600& * 3H « 25 « 123 2,340
OBA222¢ = 240
=285 60,000& = 2& * 29 240
401 Al HIZ 201 I 6,700 0 6,700
01 A& HI 6,700 0 6,700
OLAM SHBANFE ALY IS
6,700,000& = 14l 6,700
405 TtobH S| 29,190 31,300 A2,110
01 AL EZFH S 29,190 31,300 A2,110
OUIARE FHIPY 13,000
Oz =d 1,400,000& = 8CH 11,200
OdioId=eH 600,000& * 3CH 1,800
O=SggdadIBANAEE TVRY
1,200,000 = 2CH 2,400
ozgx(3x) +¢ 13,790,000& = 104 13,790
oHMGHLD B EE HAt2el 36,300 27,480 8,820
201 LEt2A | 1,800 0 1,800
01 AtR 22l | 1,800 0 1,800
OROBHIAAY fIg S|
150,000& = 123 1,800
307 glztol & 32,400 27,480 4,920
05 QIRtRIE = 32,400 27,480 4,920
OXNPYSEALL HA (Y
2,700,000& ~ 18 = 128 32,400
405 Xt&tE SHI 2,100 0 2,100
01 AL ESHSH 2,100 0 2,100
©=3tH &3 2,100
O2ol &t 150,000 = 404 600
OItel & 500,000& * 14 500
oxE 500,000& * 14 500
odlole 500,000& * 1K 500




SN HYSSBAYL
o HYPYAH (HYSSALL)
S J2ZH(NEAMY EY3AH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HELSAAH (AHES A L) 67,464 71,632 N4, 168
JI2AH (REAIY EESH) 67,464 71,632 N4, 168
o123l 67,464 71,632 ~4,168
201 2Bt | 36,144 38,152 ~2,008
01 AtR 22l | 36,144 38, 152 2,008
oJl2geLdistsAL (JI=Adl)
500,000& * 364H 18,000
o3I (J1=ZHl)
7,0008 * 363 * 62 * 12€ 18,144
202 044l 31,320 33,480 A2,160
01 2L Y| 31,320 33,480 A2,160

O=2UHI(J1=ZHl)
20,000% = 299 * 4.5 128 31,320




= o
A & 0l & AF 2 E A A
20178 & =204 A2S0HII=a SEH A
SN =2XEYY
M I ZME HAF
G€el Ad=220 Jgtxd(des0lls SE3) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SX &M 1,640,309 1,475,788 164,521
= 1,285,447
< 321,362
Al 33,500
=0 EME LA s 1,606,809 1,442,288 164,521
= 1,285,447
< 321,362
BN JIPEL(ARSMIIB SHalH) 1,606,809 1,442,288 164,521
= 1,285,447
= 321,362
a0 et 1,606,809 1,442,288 164,521
= 1,285,447
= 321,362
101 @14l 314,772 269,008 45,764
= 251,817
< 62,955
03 RIAHA2Z2RHE > 264,606 219,844 44,762
oAz a2l AL el 140,765
od=s(L=) 140,765
—-12Xt 26,331,760& » 19H 26,332
= 21,066
< 5,266
-94 Xt 24,578,664% » 19H 24,579
= 19,663
< 4,916
AP 23,323,480& » 19H 23,324
= 18,659
< 4,665
-54 Xt 22,176,530& » 39 66,530
= 53,224
< 13,306
o4 41,982
ONEs=g 20,000& = 13 » 128 3,120
= 2,496
< 624
ogE=aR+g
14,8903 = 15AI2t = 6F « 123 16,082
= 12,866
< 3,216
OozZ2s+¢ 9,554, 720& = 10% » 122 11,466
= 9,173
< 2,293
O&d=+< 50,000& * 6% = 128 3,600
= 2,880
< 720
Og X< 140,765,000& / 3652 * 20 7,714
= 6,171




MH = 0 & AF & Z Al
20178 & =204 A2S0HII=a SEH A
P ENEAY
DRI =ME HA S
D B30 JIBTL(ARSOIIZ SLEAH)
SA BB O () - MM - HES 0l &+ o4 il
< 1,543
OEI&Z 2,072,000& 2,072
= 1,658
= 414
o=l 150,000& = 6H » 12& 10,800
- 8.640
< 2,160
(©IME=}:] 150,000& » 6% » 12& 10,800
= 8,640
< 2,160
O JHAHIXI & HI 160,000& = 6H » 12& 11,520
= 9,216
= 2,304
O & F Ol 21,331
o124 xt 1,994,8302 » 1H * 23] 3,990
= 3,192
< 798
O94 Xt 1,863,020& » 1¥ * 23| 3,727
= 2,082
= 745
O74 Xt 1,766,930 » 1H » 23] 3,534
= 2,827
< 707
O54 Xt 1,680,000& » 3¥ * 23| 10,080
= 8,064
< 2,016
C4EE AMXNHHEEZS 25,336
O30z 237,198,000& * 4.50% 10,674
= 8,539
< 2,135
(OFaRzg-h= 1= 237,198,000& * 3.06% 7,259
= 5,806
== 1,453
OFILEER 7,259,000 * 6.55% 476
= 381
= 95
(@FE=30=:N=1 237,198,000& * 1.50% 3,558
= 2,846
< 712
OMTHEE = 237,198,000 * 1.42% 3,369
= 2,695
= 674
4 D12t Z2REES 50, 166
A= SH2ACIAL HEEX 21| 50, 166
OJles 44,524 ,000& 44,524
= 35,619
< 8,905
OF &5 tdl 200,000& = 2% 23| 800




SN =SXHHD

M J0ITME A E

9l 9220 JIMEH(ABZ0IIS SEAN) (ol @)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 540
< 160
OC42E MXHMELES 4,842
-H2AEE = 45,324,000& * 3.06% 1,387
- 1,110
< 277
“}IRLYBEE 1,387,000& * 6.55% 91
= 73
< 18
-2z 45,324,000 = 4.5% 2,040
= 1,632
< 408
-Ng28s 45,324,000 = 1.5% 680
= 544
< 136
-MHEE R 45,324,000& * 1.42% 644
= 515
= 129
201 L2 | 100,943 81,686 19,257
=2 80.755
< 20,188
01 At 22/l 100,943 81,686 19,257
Oz FAaxE
70,000& = 3% = 33| 630
= 504
< 126
O2z302AdH ARE(BAEXN S)
25,000& = 1,000% A 25,000
= 20,000
= 5,000
OMEES 7¥ 16,313,000 16,313
= 13,051
< 3,262
Od=z280WE 2 48 R
40,000& * 100t A * 5& 20,000
= 16,000
< 4,000
Odz20 22 R 1,900,000& * 108 19,000
= 15,200
S 3,800
OZgH EUW & dMARE 7Y
250,000& * 804 20,000
= 16,000
S 4,000
202 O4dl 35,000 35,000 0
= 28,000
< 7,000
01 S LHAYI 35,000 35,000 0




SN =SXHHD

M J0ITME A E

S o230 JIetXH (220012 SE3H) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
CEEECEEETICE]
20,000 = 10Y * 175 35,000
= 28,000
o=t 7,000
307 2Iz2to| & 1,153,094 1,053,094 100,000
2 922,475
& 230,619
01 e =l 1,153,094 1,053,094 100,000
oOx=2i 8220 X& 1,153,094
OH 2 MR X H| 25,000& = 17,200¥ 430,000
2 344,000
& 86,000
(@FSgIReIEaPS 850,000 = 600™ 510,000
= 408,000
= 102,000
OB a2 U ASHH 39,000& = 1,000« 39,000
= 31,200
= 7,800
OMAXIZ22FH] 103,000 * 100¥ = 108 103,000
2 82,400
& 20,600
OJIEH(&s2 5) 71,094,000 71,094
2 56,875
& 14,219
501 X3 3,000 3,000 0
= 2,400
= 600
01 212t X3 3,000 3,000 0
OS2 R(2E) HHE2
300,000& * 10¥ 3,000
= 2,400
& 600
MPS=(SXE D) 33,500 33,500 0
SIS (22002 E3H) 33,500 33,500 0
HtEt = J|E} 33,500 33,500 0
802 BtE2 DI E} 33,500 33,500 0
03 UH2E 33,500 33,500 0
O (EEH0ES2) 33,500,000& 33,500




Al A

o o

Ol &b A

=
=

Al

d

=&l SEIH X

J

RO

ol

ur

23)

KO

ol

N~ N~ N~ Al [o6) o] o o D D D

Al Al Al [ap) © © o o Ye) [Ye) Y]

S BRCHN BEt S <= NN N
=+ ™ ™ [ep) (o)) (@) o ™ [ep) ™
n0 N o | » < O |o® 0w | o |
El
E=]

N~ N~ N~ [e0] [e0) [e 0] o o ()] (o] ()]

Yo} Yo} Yo [eV) Al [eV] o o (V) (V] (V)

A A ~N ™~ ™~ <= S L s
wx | 88|38 |27 glg  |z|gl|a
uam_ NERERY NI
RS

< < < © © © © o o o o o0} [e 0} Q o

[e0) [e0) [ee] [®)) [®)) (o)) (o)) o o o o Q [e @] [e6) [e6)

NS S SRR N 2SS e S|e o | o

< < < ()] D ()] (<o) o (@) o o < <t <t <

el | ® G|5 B2 |D|d D
aor oo | o @ | m|eo o
<
(=

) < o} o} [
== — [Te) o
o _ " S
0ir ~ b . omig . =
7 e U ] 8
X i Mg <3 S &
Al il Rg < < 3
. o kS .S S -
20 o 08 8 o)
ol ol S8 Mo R o
=< KF oF Wl o —
o* ur w oF o
= | =] —
= = 4 I n
; = = = 0
= 30 il 5 3
= (i o o = i
i o ~ m @ Y
o ~ 0 =R =
) %0 3|5 |3 RO K no K =]
2l o) o | 80 [80 ol R0 ®oforour - D
- K | 2[00 |0 W@ S |oF |8 3
Rl sl =T T O SRR ERE =
R0 = | o o Kk [ oU [0 © © ol |al © S |ol ©
e |m|m|wn|9(E]® IR EEE
A =

ROl [ mo

= | an

o




> A
A & 0l & AF 2 E A A
20179 20& HAES SEH A
2AM: SAHED
M A4DANE TAAL
el AII0IEE SAIHE AEEA(HXEY SE3H) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S ALH = 0t 1,500,000 400,000 1,100,000
ANANE SAAA 1,500,000 400,000 1,100,000
ZI0IEE SAHE AME2A(HXEY SE3IH) 1,500,000 400,000 1,100,000
ZII0IEE A HE AL S 4 1,500,000 400,000 1,100,000
401 Al HIZ 2018 1,500,000 400,000 1,100,000
01 A& HI 1,495,000 395,000 1,100,000
O EX0oHe 100,000,000& * 13Z Xl 1,300,000
O XN&E=SEA 32,000,000& * 6= 192,000
© 2AZ £42(AH, SII, 5)
1,000,000 = 33l 3,000
03 A& = THHI 5,000 5,000 0
O FJI0IE TAIHE AIE24a AIERUYI
5,000,000& 5,000




= A
N = 0] &F AF S & AN A
20178 = 20 A JIBHAIAE SE 3| H &X
SN TAHEASS T AIDHE D
T AR
SRl JIBAE S (DISAE EL3H) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %Eﬁ HRE2
TAIIDHEAFS SF S Al D & 1} 103 199,744 A 199,641
S AR 103 199,744 A 199,641
JIBFAIEEYZ2(D|BHAIE EEHEH) 103 199,744 A 199,641
ol gl 81 103 0 103
801 olldl bl 103 0 103
01 L Btal gl dl 103 0 103
O oldldl 103,000 103




——
N = 0 & AF & Y A
20178 = 20 & 2EIMA SE3H &A
D sgllsdg APONE D
D AERY MY L MM
DAENH(FENE SEEA) (ol @)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HAI|=HE AP 280,000 435,262 A 155,262
Dl 168,000
Al 112,000
A o L oA 280,000 435,262 A 155,262
J| 168,000
Al 112,000
A (=EIHN EESAH) 280,000 435,262 A 155,262
J| 168,000
Al 112,000
=& HHE MY 280,000 435,262 A\ 155,262
J| 168,000
Al 112,000
206 M = dl 71,112 0 71,112
J| 42,667
Al 28,445
01 X2 8| 71,112 0 71,112
ODHIIMSMN TR
8,889& =* 40kg * 2003 71,112
J| 42,667
Al 28,445
401 Al HI L £ 0HHI 133,888 125,164 8,724
J| 80,333
Al 53,555
01 Al& H| 133,888 121,568 12,320
OMSBHDHOINE HHLa 5 &yl
125,000,000 * 4.85% 6,063
J| 3,638
Al 2,425
OXSBHDHOIME YA Z5 SAYI
125,000,000& * 100 A 125,000
J| 75,000
Al 50,000
OXSBHDHOIME HLa 5 22yl
125,000,000& * 2.26% 2,825
J| 1,695
Al 1,130
405 XHoHFE S HI 75,000 310,098 A 235,098
J| 45,000
Al 30,000
01 AL E B F S| 75,000 310,098 A 235,098
OAII2E DI 53,000,000 * 1CH 53,000
J| 31,800
Al 21,200
OHHLEHINRI|(0lS4A) 22,000,000& * 1CH 22,000
J| 13,200
Al 8,800




gz 28 23
EAM HECA ZXI|IH XA
BACATH(SBNS SBIH) CERED
L=
SN HH-S(BN) - MBAY - B il HlnE2
2Es By 5,606,047 6,491,632 /885,585
9] 5,426,047
Al 180,000
B HECA FRO|E 3,356,075 3,243,686 112,389
| 3,176,075
Al 180,000
BT ANXE(=EML S 3,356,075 3,243,686 112,389
| 3,176,075
Al 180,000
TEHEZH =2 373,400 211,600 161,800
p] 263,400
Al 110,000
207 A RO H| 363,400 211,600 151,800
| 263,400
Al 100,000
01 289 363,400 211,600 151,800
ofZeIEZB2I('16E 0BT B)
110,000,000& * 14 110,000
J| 65,000
Al 45,000
O+mAZT(MITH AN 28 8
o) 140,000,000& * 14 140,000
J| 85,000
Al 55,000
CES=X-E 1 1) EMY DUHY
g9) 113,400,000& * 14 113,400
J| 113,400
801 GilBI8I 10,000 0 10,000
01 Eroiigl bl 10,000 0 10,000
Ox+ZLLHEZM=& oldlbl 10,000,000& 10,000
FOX A ALY 2tel 2,736,975 2,776,386 A 39,411
| 2,736,975
301 L2 A= 2,159,923 1,069,923 1,090,000
J| 2,159,923
02 ¥et=stit= ,500,000 350,000 1,150,000
O+ BRI FOIXA(R9)
1,500,000, 000& ,500,000
| 1,500,000
1MIIEBESS 659,923 719,923 A 60,000
O3 2el X (g0, 29,8%)
659,923,000 659,923
| 659,923
401 Al HI & 28I 222,502 1,452,330 A 1,229,828
J| 222,502
01 A& HI 222,502 1,447,102 A 1,224,600
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AN 322 SFIHNY
Hu: ABAN MECA XM XA
SR BITAES (SN SEIH) EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 10,000
-0tS&8d A 3,763,000& 3,763
J| 3,763
-t EXA & 20,627,000& 20,627
J| 20,627
-iIEadsE £X 12,173,000& 12,173
J| 12,173
OSEUHHINS(2H) =X A 15,000
oor2gd cCTv &xI(01&2,32l)
15,000,000& 15,000
J| 15,000
a2 NS XA EIL & DBAIR 25,700 25,700 0
J| 25,700
101 121 8] 16,000 16,000 0
J| 16,000
04 JIZHHZ2XNESE S 16,000 16,000 0
OFLNAAIY I} L 0BXIE o1l
15,600,000& * 19H 15,600
J| 15,600
OZF & F Il 200,000& * 23| » 19 400
J| 400
201 LBt2E| 1,200 1,200 0
J| 1,200
01 At 22l 1,200 1,200 0
OALEIL & BXIE AIRES 7S
1,200,000& 1,200
J| 1,200
202 O4dl 8,500 6,000 2,500
J| 8,500
01 = LH o4 1l 8,500 6,000 2,500
OAMSEIL & DBXR 044
20,0002 = 53 « 85 8,500
J| 8,500
HES>Z=MUE A (012) 220,000 220,000 0
J| 150,000
Al 70,000
202 Oddl 3,000 0 3,000
J| 3,000
01 =2 LHO YI 3,000 0 3,000
OUYS 3= THEHAE 22l ol
20,0002 = 2H » 754 3,000
J| 3,000
403 XHXISHHI S Xt =201 ™ 217,000 220,000 ~3,000
bl 147,000
Al 70,000
02 SJ1 2SO0l CHSH At 2 X CH & A I 217,000 220,000 A 3,000




SN sABRR BRI
Hu: ABAN MECA XM XA
Eel BFEAXZH(EME SE3A) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OUES ==& 2el
217,000,000& = 14l 217,000
J| 147,000
Al 70,000
HWees(stgdaeles s3I Y) 2,249,972 3,247,946 A997,974
J| 2,249,972
HEHAHXES (=ML SE3lH) 2,249,972 3,247,783 A 997,811
J| 2,249,972
HEHAH X = 2,249,972 3,247,783 A 997,811
J| 2,249,972
701 JIEt3I HEEES 2,249,972 3,247,783 A 997,811
J| 2,249,972
03 BIILELEIAHN=2HES 2,249,972 3,247,783 A 997,811
OGt=SZ AIHELESA N=dES 2,249,972
OFFot=HMel®d S4(3H)
469,755,000 469,755
J| 469,755
ONdd 88> HMoAE 129,987,000 129,987
J| 129,987
O&= 05 BTL 205,803,000& 205,803
J| 205,803
OFNSZFH(2Es,=33)
221,130,000& 221,130
J| 221,130
OHFA LEoI=22 466,670,000 466,670
J| 466,670
OstZII=AN4 2ZH(32=+H)
536,600,000 536,600
J| 536,600
OstZII=A4 2ZdI(st2 =)
220,027,000& 220,027
J| 220,027




SN BFBRARE SEEHY
A 9 JHRE 2L
S9l: BIOAT ALSE L SY (LWL SBAN) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
gZ2e| 2% ot M 16,889,516 34,387, 151 A 17,497,635
= 11,735,000
J| 948,065
= 1,439,210
Al 2,767,241
Sl JHRE =& 2e 16,889,516 34,387, 151 A17,497,635
= 11,735,000
J| 948,065
< 1,439,210
Al 2,767,241
ZEot=T AMEEE L 2L (ML SE3AH) 14,685,936 31,911,021 A17,225,085
= 10,216,000
J| 830,480
< 1,439,210
Al 2,200,246
UGSt HMelZEX (0t ot=HMelAld AXIAe) 1,442,268 4,491,000 23,048,732
= 1,258,000
J| 52,533
= 129,390
Al 2,345
401 AIEBIZ 28I 1,442,268 4,491,000 A 3,048,732
= 1,258,000
J| 52,533
= 129,390
Al 2,345
01 A& Bl 1,405,830 4,207,034 A 2,801,204
O ot==HMelAld AX ALY
1,405,830,000& 1,405,830
= 1,226,217
Jl| 51,206
< 126,121
Al 2,286
02 Zeltl 36,438 274,310 N 237,872
ONY oSt=HMalAlE EXAY 36,438,000& 36,438
= 31,783
J| 1,327
< 3,269
Al 59
g0l ot=HMelAld Fe=23 AtY 77,000 887,700 A 810,700
401 Al HIZ 201 I 77,000 887,700 A 810,700
01 A& HI 76,360 887,700 A 811,340
ORE2&3c 32 RAxH
76,360,000& * 14l 76,360
03 Al S THHI 640 0 640
O &3l 2 FAxd
76,360,0002 * 0.838% 640
St 2 HI(JtY ot=2) EXIAY) 3,051,713 4,061,000 A 1,009,287




2N

X{ XH -
S =

0F O rir
0k Koy
s
o
1>
1]
il
u

Pl DBIAC ANLEHE L SY(LIWL SEEH) (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

= 2,558,000
J| 106,938
< 263,110
Al 123,665

401 A& HIZ 201 Y] 3,051,713 4,061,000 A 1,009,287
= 2,558,000
J| 106,938
< 263,110
Al 123,665

01 A& HI 2,928,821 3,804,223 A 875,402
oY dt=2AH A ALY 2,928,821,000& 2,928,821
= 2,454,989
J| 102,632
< 252,515
Al 118,685

02 Zteltl 122,892 248,046 N 125,154
OJtY ot==2H XA 122,892,000& 122,892
= 103,011
J| 4,306
= 10,595
Al 4,980

St 2 U (L0l ot=2)1 EXIAY) 1,967,019 3,774,000 A 1,806,981
= 1,451,000
J| 60,606
< 149,250
Al 306,163

401 A& HIZ 201 Y] 1,967,019 3,774,000 A 1,806,981
2 1,451,000
J| 60,606
< 149,250
Al 306,163

01 A& HI 1,962,719 3,437,900 A 1,475,181
OO0l St42H SX ALY 1,962,719,000% 1,962,719
= 1,447,828
J| 60,474
< 148,924
Al 305,493

03 A& S Tl 4,300 4,700 A 400
OO0l ot==2tH XA 4,300,000& 4,300
= 3,172
J| 132
< 326
Al 670

St=22 Z Ul (Ot0H, S8 dt+2H FUlAY) 4,572,000 1,000,000 3,572,000
=2 2,286,000
J| 222,885
< 548,640
Al 1,514,475




2N

X{ XH -
S =

0F O rir
0k Koy
s
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01 A& HI 100,050 100,050
OEE ¥l =2 HUIZ2M dHER(HE
-3) 5,550,000& = 14l 5,550
= 5,550
O2ES del =2 FEISAM(EARH)
94,500,000& 94,500
£ 94,500
03 Al 2 THHI 850 850
OEE ¥l =2 HUIZ2AM AIE2UEI(H
A1) 94,500,000& * 0.8989% 850
£ 850
LES Eel 2w HAEXSA 120,000 0 120,000
= 120,000
TAIEHI &2 120,000 0 120,000
= 120,000
01 A& HI 119,181 0 119,181
O2EES Al AWE HEXSAH AL
go(3a7¥) 5,512,0008 * 14 5,512
= 5,512
OREE &2l 2 MEAIISAH(EETH)
113,669, 000& 113,669
= 113,669
03 AlE 2 THHI 819 0 819
O2ES Al AW MHEXSAH AAE2H
H(EEFEH) 113,669,000& * 0.72% 819
= 819
S0 S22 s EZZSA 150,000 0 150,000
= 150,000
401 Al HI K 201 I 150,000 0 150,000
= 150,000
01 A& HI 148,976 0 148,976
OS01H Sl sTEI A AAEH SA(
HEH) 6,890,000& = 14 6,890
= 6,890
OS01¥H 22l sTEZSAMEARH)
142,086, 000& 142,086
= 142,086
03 AlE 2 THHI 1,024 0 1,024
O=0lH S22 SZZEIAL AIE2UBI(HA
-3) 142,086,000& * 0.72% 1,024
= 1,024
S0 = ~ F2H EW+=2 FUISM 200,000 0 200,000
= 200,000
401 AIEHI L 20HEI 200,000 0 200,000
= 200,000
01 A& HI 199,215 0 199,215
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R s R SE=an);
M MIHME AE
©9: BBASANL FS(HLISLAH) (29 a8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ME&sH 497,659 0 497,659
= 497,659
MEHE & 497,659 0 497,659
= 497,659
SEMSANE SS5(FgLEEEFA) 497,659 0 497,659
= 497,659
S0/ AUHAHOE=SE HE 497,659 0 497,659
£ 497,659
401 AIEHI L 20 497,659 0 497,659
£ 497,659
01 A& HI 485,000 0 485,000
O=S0/H AU HOIESH AgH|
485,000, 000& 485,000
£ 485,000
02 Zeltl 9,167 0 9,167
O=0lH AU HOIEESE A 2l
485,000,000 = 1.89% 9,167
s 9,167
03 Al S THHI 3,492 0 3,492
O=0IH AU HOIEESE HEY AER20UY]
485,000,000 * 0.72% 3,492

Jim

3,492




SN S
o YA WA A3
5

o (=}
tel: SSNEFAY & - SUE N (D E@LESESA) (Sl & &)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
At ot 306,693 0 306,693
= 306,693
YB3/ 23 306,693 0 306,693
= 306,693
SNy & - 2UE N (DELASESIAH) 306,693 0 306,693
= 306,693
SN SLE ALYZ2 ZEHIA 306,693 0 306,693
£ 306,693
401 AIEHI L 20 306,693 0 306,693
£ 306,693
01 A& HI 304,500 0 304,500
SSNAELE MEUZ HH B3 AH(L=614m, B
=3m) 304,500, 000& 304,500
£ 304,500
03 Al S HHI 2,193 0 2,193
O=Z2sNHFLE HUEUZ HEBA AIER
i 304,500,000& * 0.72% 2,193

£ 2,193




FN: AENSER NGHEH
M ARG EEZWSIIBES
Y 5E CRY HE(FEYHSHIA) (el @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
AENsSEF NG 7,035,500 0 7,035,500
Xl 7,035,500
AMOZRSIHEZNEI|EBIEH 7,035,500 0 7,035,500
Xl 7,035,500
=& T2Y HE(AELAIESEIA) 7,035,500 0 7,035,500
Xl 7,035,500
QU ZH T2 E I TA 1,588,000 0 1,588,000
Xl 1,588,000
401 AIEHI L 20 1,588,000 0 1,588,000
Xl 1,588,000
01 A& HI 1,584,000 0 1,584,000
OQU~BS2 TEEILE T AH(L=0.24kn)
1,584,000, 000& 1,584,000
Xl 1,584,000
03 Al S HHI 4,000 0 4,000
O~ S22t T2 I HIA AIZRUHI
4,000,000& 4,000
Xl 4,000
SA~2A T2 E T E DA} 502,000 0 502,000
Xl 502,000
401 Al Bl 2B 502,000 0 502,000
Xl 502,000
01 A& HI 500,000 0 500,000
O A~2 A2t S 2 &I Z AH(L=1.5%m)
500,000, 000& 500,000
Xl 500,000
03 AlZ S THHI 2,000 0 2,000
OSY~Z 42t T2 I HIAL AIZRUHI
2,000,000& 2,000
Xl 2,000
e HE~s2 TREHIFEIA 452,000 0 452,000
Xl 452,000
401 Al Bl 28I 452,000 0 452,000
Xl 452,000
01 A& HI 450,000 0 450,000
oY #HH~L-S2t TS EL I AH(L=1.67km)
450,000, 000& 450,000
Xl 450,000
03 A& S THHI 2,000 0 2,000
oiNg #3352 TZEIEIJA AL 20U
2,000,000& 2,000
Xl 2,000
Cet~3942t S 2T H I A 532,000 0 532,000
Xl 532,000




FN: AENSER NGHEH
M ARG EEZWSIIBES
Sel: 5E CRY HE(RYLHSHN) CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
T AEHZXEUY 532,000 0 532,000
X 532,000
01 A& HI 530,000 0 530,000
Ottst~s 92t T2 & XL & 2 AH(L=0.43km)
530,000, 000& 530,000
Xl 530,000
03 Al 2 THHI 2,000 0 2,000
oLt~ T2 I ZI A AIERUHI
2,000,000& 2,000
X 2,000
IE~E M2t S22 ETE DA} 1,574,000 0 1,574,000
Xl 1,574,000
TAEHIZEUY 1,574,000 0 1,574,000
Xl 1,574,000
01 A& tI 1,570,000 0 1,570,000
O M~E M2 T2 & I F B AH(L=1.16km)
1,570,000, 000& 1,570,000
Xl 1,570,000
03 Al 2 THHI 4,000 0 4,000
OJE~E T2t T2 ZEH I A AIE R0
4,000,000& 4,000
Xl 4,000
Ctet~StEt2 S 28T DA 1,444,000 0 1,444,000
Xl 1,444,000
401 Al HI X 201 1,444,000 0 1,444,000
Xl 1,444,000
A& HI 1,440,000 0 1,440,000
OCI~EE2t S22 I M3 AH(L=1.2kn)
1,440,000, 000& 1,440,000
Xl 1,440,000
03 Al 20 HI 4,000 0 4,000
OUtet~2ERE T2 I IAL AIE R0
4,000,000& 4,000
Xl 4,000
Hlaxzuw~Hlgws2t AT X SA 391,500 0 391,500
Xl 391,500
401 AIEHI L 2CHEI 391,500 0 391,500
Xl 391,500
1T AIZHI 390,000 0 390,000
OBl Z=W~HEW3S|2t 1S A& XS AHL=0.31km)
390,000, 000& 390,000
Xl 390,000
03 Al 2 THHI 1,500 0 1,500
OHl&4xzu~H2wsl2t AQSHISAH AIER
=l 1,500,000 1,500




FN: AENSER NGHEH
M ARG EEZWSIIBES
Yl 5E T2y FB(FYLASEN) EERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| Al 1,500
20l FEAIEZ SHZZSA 251,000 0 251,000
X 251,000
401 Al HI K 201 I 251,000 0 251,000
X 251,000
01 A& HI 250,000 0 250,000
Odol 2EAXTZ SHEEBAHL=0.4kn)
250,000, 000& 250,000
X 250,000
03 Al 20 HI 1,000 0 1,000
OO0l FEAMTE HEIBA ALY
1,000,000& 1,000
X 1,000
SE~EN T2 LI T A 301,000 0 301,000
X 301,000
401 AIEHI L 2CHEI 301,000 0 301,000
Xl 301,000
01 A& Hl 300,000 0 300,000
O2E~2E2t T2 I H I3 AHL=0.2kn)
300,000, 000& 300,000
X 300,000
03 A& 2 THHI 1,000 0 1,000
O=E~-2&2 T2 I IA AIER0UHI
1,000,000 1,000

Xl 1,000




EXN: NS T2AIE0
Ha: OTA Y ASHO JFEE TRISY 7S
CANE 2MHe L A e (DELNHNELESH) (2 &HH)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
S22 S AIEN 4,210,000 4,210,000
Xl 1,966,000
S 2,087,460
Al 156,540
AT Al CHHl 9 &Ql otNst T2 NEYL 2H 4,210,000 4,210,000
Xl 1,966,000
£ 2,087,460
Al 156,540
CADNE BAHe & NS A RS (DEYAELESAH 4,210,000 4,210,000
)
Xl 1,966,000
S 2,087,460
Al 156,540
S sE2 E2E 1,003,000 1,003,000
Xl 1,003,000
401 AlEHI 2L 2 0HY| 1,003,000 1,003,000
Xl 1,003,000
01 Al&H| 1,000,000 1,000,000
OdYLH S=2(F3-31) T2 I & =2 AH(L=0.22k
m, B=12m) 1,000,000,000& 1,000,000
N 1,000,000
03 AlE 21| 3,000 3,000
ode™ S=2 S2IMEZ2AF AIEE2THYI
3,000,000 3,000
N 3,000
SAMTHEGOISAHEESZ2)EZ2ME ZA 2,505,000 2,505,000
Xl 261,000
S 2,087,460
Al 156,540
401 AlEHI 2 2 0HY| 2,505,000 2,505,000
Xl 261,000
S 2,087,460
Al 156,540
01 Al&H| 2,500,000 2,500,000
OA A ~ATH 2t T 2I0E 2 AH(L=1.2km, B=20m)
2,500,000,000& 2,500,000
Xl 261,000
S 2,087,460
Al 151,540
03 AlE 21| 5,000 5,000
ONA~AI2E T2IHE Z AL Al ETHY|
5,000,000& 5,000
A0 TAHEZR2(E3-26) HAZAH 702,000 702,000
Xl 702,000
401 AlEHIZL 2 0HY| 702,000 702,000
Xl 702,000




PN AENSER S2AEH
Ha: BATA Y ASHQ OF CRISY 7S
S9: CADE BAHE U AHTA P (RELHSHIN) EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 700,000 0 700,000
O0l#H ZAIHEC=Z(53-26) MHE3AH(L=0.3
4km, B=12m) 700,000, 000& 700,000
Xl 700,000
03 A& S THHI 2,000 0 2,000
ODAHE ZTAHEZZ(E3-26) HEIA AlE
Syl 2,000,000& 2,000

Xl 2,000
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SHT SANLALE B2 AL D
M S EH FA 2Y & 2l
¢ S 2REE L (DELNSESH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SANEAMSH SSAL 2,976,348 0 2,976,348
= 2,976,348
SEH FAMN 2E & e 2,976,348 0 2,976,348
= 2,976,348
HEE 22E ZLH(ZELASLEIA) 2,976,348 0 2,976,348
= 2,976,348
g0 =32 HE 2,976,348 0 2,976,348
£ 2,976,348
401 AIEHI L 20 2,976,348 0 2,976,348
£ 2,976,348
01 A& HI 2,910,000 0 2,910,000
oOged =Hala A Z Ak
2,910,000, 000& 2,910,000
£ ,910,000
02 Zeltl 55,872 0 55,872
oZeldl (A=, MII, Ag)
2,910,000,000& * 1.92% 55,872
s 55,872
03 Al S THHI 10,476 0 10,476
OAIE S HHI 2,910,000,000& * 0.36% 10,476
= 10,476




